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1. Which of the following is true?
(i) 45.6—2.8=48.4 (ii) 86.1+41.4=44.7 (iii) 75.3%X16.0=4.7 (iv) 83.3—-77.9=161.2 (v) 78.0—34.1=43.9
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2. Express 100 as a decimal correct to 2 decimal places

(i) 0.61 (i) 0.81 (iii) 0.08 (iv) 8.1 (v) 0.91

3. 13.8686 — = -40.5320
(i) 56.4006 (ii) 55.4006 (iii)) 54.4006 (iv) 53.4006 (v) 52.4006

4. The value of 82.8 — 57.43 is
(i) 25.470 (ii) 25.370 (iii) 25.570 (iv) 25.270 (v) 25.170
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5. Express§ as a decimal correct to 4 decimal places

(i) 0.2111 (ii) 0.1111 (iii) -0.0889 (iv) 0.0111 (v) 0.3111

6. The value of 3.75 X 6.085 is
(i) 22.618750 (ii) 22.918750 (iii) 22.818750 (iv) 23.018750 (v) 22.718750

7. The value of 54.37 = 98.89 is
(i) 0.35 (ii) 0.45 (iii) 0.55 (iv) 0.65 (v) 0.75

8. The decimal part of the decimal number 86.26 is
(i) 26 (i) 86 (iii) 96 (iv) 862 (v) 8

9. 6.2 =
(i) oL (ii) > (iii) 620 (iv) 62 (v) oL
i) - i) - iii iv v) -
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10. Which of the following is true?

(i) 0.7+0.6=0.1 (ii) 0.5+0.1=0.05 (iii)) 0.7—-0.2=0.5 (iv) 0.8+0.4=0.4 (v) 0.7+0.5=0.35

11. Expand the decimal number313.4
4

4 4 3 4 1
(i) 300+10+3+ — (i) 300+10+3+ ——— (iii) 30+1+ —+—= (iv) 3+ —+—-+-——
10 1000 10 100 10 100 1000
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(v) 300+10+3+ —
100
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Write the decimal number of the expanded form :
2 6 2

8+ - + +-
10 100 1000

(i) 8.262 (ii) 0.8262 (iii)) 0.08262 (iv) 8.0262 (v) 8.00262

Round off the decimal 8428.75058 correct to four decimal places

(i) 8428.7505 (ii) 8428.7506 (iii)) 8428.7507 (iv) 84287.5058 (v) 842.87506

Which of the following is true?

(i) 0.0007-1.0000=1.0007 (ii) 0.0001%x0.1000=0.0010 (iii)) 0.0006%x0.0001=6.0000

(iv) 0.0005+0.0002=0.00000010 (v) 0.0006—0.0002=0.0004

The integer part of the decimal number 946.874 is
(i) 874 (ii) 946 (iii)) 956 (iv) 94 (v) 9468

The decimal part of the decimal number 459.295 is
(i) 469 (ii) 45 (iii) 459 (iv) 295 (v) 4592

12.58 =

(i) 629 (if)y 1258 (iii) 629 (iv)
500 5

The value of 9.6 X 10.8 is
(i) 103.5800 (ii) 103.7800 (iii) 103.8800 (iv) 103.4800 (v) 103.6800
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Express - 9 as a decimal correct to 2 decimal places

(i) 0.91 (ii) 1.01 (iii) 1.31 (iv) 1.11 (v) 1l.21

Round off the decimal 2918.62513 correct to two decimal places

(i) 2918.62 (ii) 291.863 (iii) 2918.63 (iv) 2918.64 (v) 29186.25

28.4 — =9.0
(i) 17.4 (ii) 21.4 (iii) 18.4 (iv) 20.4 (v) 19.4

Find the number of decimal places in the decimal number 5.008 is

(i) 1 (i) O (iii) 4 (iv) 2 (v) 3

Which of the following is true?

(i) 0.005—-0.003=0.008 (ii) 0.005+0.002=0.003 (iii)) 0.009+1.000=-0.991 (iv) 0.005+0.003=0.002

(v) 0.006—-0.001=0.005

The value of 63.2 — 57.1is
(i) 6.00 (ii) 6.10 (iii) 5.90 (iv) 6.30 (v) 6.20



25. Which of the following is true?
(i) 43.5843.88=39.70 (ii) 96.96+14.39=1395.2544 (iii) 49.55+29.83=19.72

(iv) 96.55%70.35=6792.2925 (v) 50.88+18.16=923.9808
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